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AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
NSl R=lan): 26,654,750 14,045,518 12,609,232
= 26,486,000
= 168,750
HMHAXRO IIX MEX(ZELXN AL /XELEAl) 26,626,000 13,398,000 13,228,000
= 26,486,000
o 140,000
NSEoHes &8 AHAE I B =5 26,520,000 13,392,000 13,128,000
= 26,486,000
= 34,000
Et2 XS AFSE =X 34,000 38,000 A4 000
202 044l 34,000 37,000 A 3,000
1 2L Y| 34,000 37,000 A 3,000
OXLJAHE XNGAHAAHAIYE =& 8,000
OEtZ XM &L SHHINEAY =& 10,000
Odtgd=d L O|&EIIEXNNE =& 8,000
OZAVY SBIIY LEZ 8,000
A SEIHLAS(ZD) 26,486,000 13,354,000 13,132,000
= 26,486,000
403 XX SHHS K20 & 26,486,000 13,354,000 13,132,000
= 26,486,000
01 XIS A=Z2E X 26,486,000 13,354,000 13,132,000
OHZXNY AHAESE N X 26,486,000
= 26,486,000
Et2 XA IR M2 106,000 6,000 100,000
MAXAIRIE M SHAHE A& 6,000 6,000 0
308 XAHXIGHH SO0l & 6,000 6,000 0
01 AIKISHHENEXZ 6,000 6,000 0
OMNSEAIRIE M S AFAI & 6,000
AoDZ2gAs EXAIE XS 100,000 0 100,000
403 XX EHHS K20l A 100,000 0 100,000
01 MXSHAHNE2EE X 100,000 0 100,000
OANOIZESE A EXNAE XS 100,000
SHMSAAH| (KHLOHE D) (DIEH/DIE) 28,750 32,000 N 3,250
Jl2&ddl 28,750 32,000 N 3,250
2A2Y 2234l 28,750 32,000 N 3,250
201 et d9d| 17,350 20,600 A 3,250
01 AR 22l ] 17,350 20,600 N 3,250
OFNMSY AR 22| 17,350
202 04| 8,400 8,400 0
01 2Ll 8,400 8,400 0
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8,400
3,000 3,000
3,000 3,000
250,000& = 12& 3,000
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